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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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Question ID : 6913521518
Option 11D : 6913526072
Option 21D : 6913526071
Option 31D : 6913526070
Option 41D : 6913526069
Status : Answered
Chosen Option: 2
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Question ID : 6913521555
Option 11D : 6913526220
Option 21D : 6913526218
Option 31D : 6913526217
Option 41D : 6913526219
Status : Answered
Chosen Option : 2
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913521504
6913526014
6913526015
6913526016
6913526013
Answered
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Question ID : 6913521568
Option 11D : 6913526270
Option 21D : 6913526269
Option 31D : 6913526272
Option 41D : 6913526271
Status : Answered
Chosen Option : 3
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Ans of 1. 12%
< 2 10%
<3 11%
< 4 13%
Question ID : 6913521511
Option 11D : 6913526044
Option 2 ID : 6913526042
Option 31D : 6913526043
Option 4 1D : 6913526041
Status : Answered
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Ans 1. Possible Collective Action
7< 2. Possible Corrective Action

+ 3 Prompt Corrective Action
/< 4. Prompt Collective Action

Q.6 PCA (supervisory tools to maintain sound financial health of banks) stands for:

Question ID : 6913521600
Option 11D : 6913526400




Option 21D : 6913526399
Option 3 ID : 6913526397
Option 4 ID : 6913526398
Status : Not Answered
Chosen Option : --
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Question ID : 6913521527
Option 11D : 6913526107
Option 21D : 6913526106
Option 3 ID : 6913526105
Option 4 ID : 6913526108
Status : Answered
Chosen Option : 1
Q8 YWhich of the following worms causes elephantiasis?
Ans 3 1. Round worms
7% 2. Tape worms
/< 3. Hook worms
« 4 Filarial worms
Question ID : 6913521576
Option 11D : 6913526302
Option 2 ID : 6913526304
Option 31D : 6913526303
Option 4 ID : 6913526301
Status : Answered
Chosen Option : 4
Q.9 can be used as an olfactory indicator.
Ans  of 1. Vanilla
/< 2. Alum
/< 3 Amla
/< 4 Tamarind
Question ID : 6913521571
Option 1 ID : 6913526284
Option 2 ID : 6913526283
Option 3 ID : 6913526281




Option 41D : 6913526282
Status : Answered
Chosen Option: 1
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Chosen Option :

Question ID : 6913521553
Option 11D : 6913526209
Option 21D : 6913526210
Option 31D : 6913526212
Option 41D : 6913526211
Status : Answered
Chosen Option : 3
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Question ID : 6913521594
Option 11D : 6913526375
Option 21D : 6913526376
Option 31D : 6913526373
Option 41D : 6913526374
Status : Not Answered
Chosen Option : --
Q.1 s +
> MgCO0, & 21 g H #aRwAw &F 30T g
Ans1.0.25
2. 0.21
3. 0.31
4. 0.51
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 6913521569
Option 11D : 6913526273
Option 2 ID : 6913526275
Option 31D : 6913526276
Option 41D : 6913526274
Status : Not Answered

% ofg geater Rerd NEar B o F g6 ¥
Ans xl 5$




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913521582
6913526326
6913526328
6913526327
6913526325
Not Answered
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Question ID : 6913521516
Option 11D : 6913526061
Option 21D : 6913526064
Option 31D : 6913526062
Option 41D : 6913526063
Status : Answered
Chosen Option : 3
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Question ID : 6913521523
Option 11D : 6913526092
Option 21D : 6913526090
Option 31D : 6913526089
Option 41D : 6913526091
Status : Answered
Chosen Option : 4
Q.'I . . . B .
¢ Which type of reproduction can bring greater diversity?
Ans  of 1. Sexual
< 2. Asexual
/< 3. Regeneration
/< 4 Budding
Question ID : 6913521579
Option 11D : 6913526313
Option 21D : 6913526314
Option 31D : 6913526315
Option 41D : 6913526316




Status : Not Answered
Chosen Option : --

Chosen Option :

Q.1 2
7 15 an ore ofmercm}r.
Ans X 1. Magnetite
/< 2. Bauxite
' 2 Cinnabar
/< 4 Hematite
Question ID : 6913521572
Option 11D : 6913526285
Option 21D : 6913526288
Option 31D : 6913526287
Option 41D : 6913526286
Status : Not Answered
Chosen Option : --
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Question ID : 6913521536
Option 11D : 6913526143
Option 21D : 6913526141
Option 31D : 6913526144
Option 41D : 6913526142
Status : Answered
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Question ID : 6913521509
Option 11D : 6913526035
Option 21D : 6913526034
Option 3D : 6913526033
Option 41D : 6913526036
Status : Answered
Chosen Option : 3
Q.2
o STeT T ITSUYSRIOT WX T gl




X 4 TaETe T a9Ae

Question ID : 6913521567
Option 11D : 6913526265
Option 21D : 6913526266
Option 31D : 6913526267
Option 41D : 6913526268
Status : Answered
Chosen Option : 2
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Question ID : 6913521526
Option 11D : 6913526101
Option 21D : 6913526102
Option 31D : 6913526103
Option 41D : 6913526104
Status : Answered
Chosen Option : 2
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Question ID : 6913521554
Option 11D : 6913526213
Option 21D : 6913526214
Option 31D : 6913526215
Option 41D : 6913526216
Status : Answered
Chosen Option : 4
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Question ID : 6913521587
Option 11D : 6913526347
Option 21D : 6913526346
Option 3D : 6913526345




Option 4 ID : 6913526348
Status : Not Answered
Chosen Option : --
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Question ID : 6913521565
Option 11D : 6913526258
Option 21D : 6913526260
Option 31D : 6913526259
Option 41D : 6913526257
Status : Answered
Chosen Option : 3
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Question ID : 6913521510
Option 11D : 6913526039
Option 21D : 6913526038
Option 31D : 6913526037
Option 41D : 6913526040
Status : Answered
Chosen Option: 1
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X 2 375 Pa
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Question ID : 6913521560
Option 11D : 6913526238
Option 21D : 6913526239
Option 31D : 6913526240
Option 41D : 6913526237
Status : Answered
Chosen Option: 1
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< 4 14 km

Question ID : 6913521551
Option 11D : 6913526204
Option 21D : 6913526202
Option 31D : 6913526201
Option 4 ID : 6913526203
Status : Answered
Chosen Option : 2
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Question ID : 6913521540
Option 11D : 6913526159
Option 21D : 6913526158
Option 31D : 6913526160
Option 41D : 6913526157
Status : Answered
Chosen Option : 4
%2 Which of the following does NOT belong to this group?
A. Mercury
B. Paraffin
C. Coconut oil
D. sediment
Ans X 1. C
V2D
<3 B
X4 A
Question ID : 6913521546
Option 11D : 6913526183
Option 21D : 6913526184
Option 31D : 6913526182
Option 41D : 6913526181
Status : Answered
Chosen Option : 2
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Question ID : 6913521538
Option 11D : 6913526152
Option 21D : 6913526149
Option 31D : 6913526150
Option 41D : 6913526151
Status : Answered
Chosen Option : 4
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Question ID : 6913521505
Option 11D : 6913526018
Option 21D : 6913526017
Option 31D : 6913526019
Option 4 1D : 6913526020
Status : Answered
Chosen Option : 2
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Question ID : 6913521596
Option 11D : 6913526384
Option 21D : 6913526382
Option 31D : 6913526381
Option 4 1D : 6913526383
Status : Answered
Chosen Option : 4
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Question ID : 6913521512
Option 11D : 6913526046
Option 21D : 6913526048
Option 3 ID : 6913526045
Option 41D : 6913526047
Status : Answered
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Question ID : 6913521590
Option 11D : 6913526358
Option 21D : 6913526357
Option 31D : 6913526359
Option 41D : 6913526360
Status : Not Answered
Chosen Option : --
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Question ID : 6913521563
Option 11D : 6913526252
Option 21D : 6913526249
Option 31D : 6913526250
Option 41D : 6913526251
Status : Answered
Chosen Option : 3
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Question ID : 6913521532
Option 11D : 6913526126
Option 2 ID : 6913526127
Option 31D : 6913526128
Option 4 ID : 6913526125
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID :

Option 21D :

6913521599
16913526393
6913526394

1 6913526396
: 6913526395

Status:
Chosen Option :
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Question ID : 6913521501
Option 11D : 6913526004
Option 21D : 6913526003
Option 31D : 6913526001
Option 41D : 6913526002
Status : Answered
Chosen Option : 4
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Question ID : 6913521577
Option 11D : 6913526307
Option 2 ID : 6913526306
Option 31D : 6913526305
Option 41D : 6913526308
Status : Not Answered
Chosen Option : --
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Question ID : 6913521522
Option 11D : 6913526085
Option 21D : 6913526086
Option 31D : 6913526087
Option 41D : 6913526088
Status : Answered
Chosen Option : 4
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Question ID : 6913521588
Option 11D : 6913526349
Option 21D : 6913526350
Option 31D : 6913526352
Option 41D : 6913526351
Status : Not Answered
Chosen Option : -
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Question ID : 6913521558
Option 11D : 6913526232
Option 21D : 6913526229
Option 31D : 6913526230
Option 41D : 6913526231
Status : Answered
Chosen Option : 4
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Question ID : 6913521591
Option 11D : 6913526361
Option 21D : 6913526362
Option 31D : 6913526364
Option 41D : 6913526363
Status : Answered
Chosen Option: 1
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Question ID : 6913521559
Option 11D : 6913526233
Option 21D : 6913526234
Option 31D : 6913526236
Option 4 ID : 6913526235
Status : Answered
Chosen Option : 4
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Question ID : 6913521573
Option 11D : 6913526292
Option 21D : 6913526289
Option 31D : 6913526290
Option 41D : 6913526291
Status : Not Answered
Chosen Option : --
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Question ID : 6913521557
Option 11D : 6913526227
Option 21D : 6913526228
Option 31D : 6913526226
Option 4 ID : 6913526225
Status : Answered
Chosen Option : 3
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Question ID : 6913521517




Option 11D : 6913526066
Option 21D : 6913526067
Option 31D : 6913526068
Option 41D : 6913526065
Status : Answered
Chosen Option: 1
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Question ID : 6913521545
Option 11D : 6913526179
Option 21D : 6913526180
Option 31D : 6913526178
Option 41D : 6913526177
Status : Answered
Chosen Option: 1
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Question ID : 6913521528
Option 11D : 6913526112
Option 21D : 6913526110
Option 31D : 6913526109
Option 41D : 6913526111
Status : Answered
Chosen Option: 3
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Question ID : 6913521513
Option 11D : 6913526051
Option 21D : 6913526050
Option 31D : 6913526052
Option 4 ID : 6913526049




Status : Answered
Chosen Option : 2
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913521502
6913526008
6913526006
6913526007
6913526005
Answered
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Question ID : 6913521556
Option 11D : 6913526221
Option 21D : 6913526224
Option 3D : 6913526222
Option 4 ID : 6913526223
Status : Answered
Chosen Option : 3
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Question ID : 6913521507
Option 11D : 6913526027
Option 21D : 6913526028
Option 31D : 6913526025
Option 41D : 6913526026
Status : Answered
Chosen Option: 3
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Question ID : 6913521535
Option 11D : 6913526137
Option 21D : 6913526139
Option 31D : 6913526140
Option 41D : 6913526138
Status : Answered
Chosen Option : 1
Q.5 2
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Question ID : 6913521508
Option 11D : 6913526029
Option 21D : 6913526030
Option 31D : 6913526031
Option 4 ID : 6913526032
Status : Answered
Chosen Option : 3
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Question ID : 6913521581
Option 11D : 6913526322
Option 21D : 6913526321
Option 31D : 6913526324
Option 41D : 6913526323
Status : Answered
Chosen Option: 3
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Chosen Option :

Question ID : 6913521542
Option 11D : 6913526167
Option 21D : 6913526165
Option 31D : 6913526168
Option 41D : 6913526166
Status : Answered
Chosen Option : 3
Q.5 - w .
s IHI TIgHIH A 11 FT 915 TFHET Hid 87
e 1 THTE. ol
< 2 e g
X 3 FeATeT TMETERT
X4 gL e
Question ID : 6913521589
Option 11D : 6913526353
Option 21D : 6913526355
Option 31D : 6913526354
Option 41D : 6913526356
Status : Answered
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Question ID : 6913521580
Option 11D : 6913526320
Option 21D : 6913526319
Option 31D : 6913526317
Option 41D : 6913526318
Status : Not Answered
Chosen Option : --
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Question ID : 6913521548
Option 11D : 6913526192
Option 21D : 6913526190
Option 31D : 6913526189
Option 41D : 6913526191
Status : Answered
Chosen Option : 2
Q.6 v gEwER o 6245 F 52 & TAT 62 W TN I AN FHH 3ol WEI ool H T HUw gem?
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Question ID : 6913521506
Option 11D : 6913526022
Option 21D : 6913526024
Option 31D : 6913526021
Option 4 ID : 6913526023
Status : Answered
Chosen Option : 1
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Ans X 1. 37.5 km
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v 4 45 km
Question ID : 6913521514
Option 11D : 6913526054
Option 2 ID : 6913526055
Option 31D : 6913526056
Option 4 ID : 6913526053
Status : Answered
Chosen Option : 4
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ans X 1. 39816561
X2 11111
v 5 235656
X 4. 41625665536

Question ID : 6913521539
Option 11D : 6913526155
Option 2D : 6913526153
Option 31D : 6913526156
Option 41D : 6913526154
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID : 6913521524
Option 11D : 6913526095
Option 21D : 6913526096
Option 31D : 6913526093
Option 41D : 6913526094
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